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I A6 1510 %2 . 3C ) £ 8 (topic or main point). 3CE A B (main idea). B H title)%, X5
EERSRERR. ‘

KR R

(1) The subject/topic of the passage/article is ...

(2) Which of the following best expresses the main idea/the theme of the passage?

(3) What does the passage/author mainly discuss?

(4) What’s the main point/main idea/central thopght of the passage/author?

(5) The best summary of the paragraph is...
(6) What/Which of the following is the best title of the passage?
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(7) The title that best expresses the main idea is...
(8) The passage is mainly concerned about...
(9) Which of the following best summarizes the authar’s opinion?

T BELAATRANEERE

FERRT, AEEERBREXEFHELMAT ORI, NEREERE, BERTEHENE
BEREMER, RSN ZEEFOHRERANGER 3R REHUFEEZAZEGMAN
B S o SR B BFE T 5 825 A X 4L RS0 E 11 R0 4 M BRAR AR AL . 3K 2K 1) BB 45 0 1) A\ (who).
Hi(what). Bf[E)(when). Hb s (where). SCH IR (data). FHHE R4 1R BRI 4 R (cause and effect)5F .
LA ) R A

(1) According to the passage, what was the ...?7

(2) Which of the following is TRUE (or NOT TRUE)?

(3) Which of the following is/isn’t mentioned as a fact?

(4) In which year/When did...?

(5) Who was in favor of/was agair}st. .2

(6) Which of the following best supports the idea of the passage?

@) Whicl_)‘y of the following may lead to (cause) ...?

(8) The main reason for ... is that ...

(9) The main difference between ... and ... is that ...

=, B RRRIES

g, HERMBEKREEREN, LAFKEHELERRRIERKTHERER, 5
EORFBAEAZUW EEME LT UBEXR, BdoANOHREHBE LS 0. Bk
R 4RIFECHARIFHEEH R MUCREAT S BN TN 53N . NESRPEREERRTH
BRI ) Eeal b, BB E B E 42 R (implication or implied meaning), #1T4 FiBEHHEE
(making logical inference), BH—MEEMLE R, FHBSHE, REHMMMARCHER, MARR
EETIWANEHE,
a3 = R N S} e s

(1) It can be inferred/concluded from the passage that...

(2) Which of the following can/can’t be inferred from the passage?

(3) The passage suggests/implies that...

(4) One/We can conclude from the passage that...

(5) What does the article/passage say about...?

(6) According to the passage/paragraph, which of the following is true/false?

(7) The author may probably agree with/support...

(8) By the first/last sentence of the passage/the first, second paragraph, the author means. ..

(9) The author seems to be in favor of/be against...

(10) The tone of the passage/author may be ...

(11) The author’s purpose of writing this passage is...

M. JRACEMRIEES

VLR E S MR, XA R A4 R A SOR I A 1A R Sk s 8 RO

FEEE AR HTIE RN HEX R B R ENAE, AR, B XA. ERaR%E.



F—F NHEAFREM Careful Reading(FF4H ) KI5 3
XEFEHE R RBEERE:

(1) The word “...” in the passage means. ..

(2) According to the passage, the word “...” is known as...
(3) The word “...” in line ... could best be replaced by...
(4) According to the passage, what is “...” implying?

(5) As used in the passage, the phrase “...” suggests...

(6) From the passage, we can infer that the word “...” is ...
(7) The word “...” is closest in meaning to...

F. XxFiACiEE (Vocabulary)

HIC (Vocabulary) 72 PU%% L BA PR S % BEM— . HCRE L0 L RE TR,
AR K RX M — R T RASEAMEINE, WICEEAERMXEFOFEA ST, SERER
THERUE AR SENHE. BEXREFEFEMERANEACE. TL, RiEZUED
N AR BB AR . IR AR R R AR IR 1 T B T A LR

(1) According to the author, the word “...” means

(2) Which of the following is nearest in meaning to “...”?

(3) The term “...” in paragraph... can be best replaced by ...

(4) What’s the meaning of “...” in line ... of paragraph...?

(5) As used in the line ..., the word “...” refers to

— R, Eiﬁﬁ@lﬂ&*ﬁ&ﬁ)&ﬂﬂ%&b&%?ﬁwﬂx R FE— BT, "
PLBR D ETXEMBXERR; 2) FXKR, RXKFR: 3) @ME: 4) MHAR@EREREe,;
A IR A TR R 3
L #ALTXIREEXHERBRBENRX

Example:

The fishermen make their canoes from tree trunks. They go from island to island in these light marrow
boats and collect turtles’ eggs.

BATA E TR LB LT R: “cances” & —Hifa X AR AMI . HiET Ri5Z @M. &
TEAKK . BUTPHZENET. RERNEREEEECHRER, BX—47DSRLEH
AT BT .

Example:

Jogging has become very popular in some countries. It is believed to be a good exercise for old
people.

“Jogging” B B & 1T “a good exercise for old people” ] LAHENT Hi & —Fhif & Z4E A A BIFHIE
;T
2. FAXERRSIRNE NI XRBNIRN
Example:

If you happened to be sitting in the woods outside the city, you might have witnessed a strange sight.
You would have seen a very proud looking man riding along horseback, saying something. ..

TESCFE A AT DUAR 25 5 34007 4 “witnessed” 9 [7) X 36 217 2 “seen”, R “witness B A “ B " ()
A
Example:

In the northern regions the winters are generally cold and humid, and the summers hot and dry.

B, XRMERNSEREBAHREN, TIIRBHEKE B BN ZEBRAER. “cold”5“hot”
SAE, “humid”E“dry”%i . B, “humid’£ “E@RH” & E.
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3. F AL E PR IREE IR X

Example:

Such experiences are not unusual for the amateur conchologists, people who collect shells.

conchologists 7 & AT LIFRHE 127 J5 T i) A7 A 5 “people who collect shells”32f# K “ 4 N5
MIA” B “ LT 7
Example:

Jack is now a florist, who keeps a shop for selling flowers in our district.

“florist” ) & Bk £ 3L J5 52 18 M FJ“who keeps a shop for selling flowers” FTiffik ) “HH — K £
EAERREERAN”, B “TEEE".
4. F B 3CE P A a AR50 R MR REIE U iR X
Example: )

Today young couples who are just starting their households of ten spend lots of their money on
appliances, for instance, washing machines, refrigerators and color TVs. -

it BTl F (washing machines, refrigerators and color TVs) B[ LLE H, “appliances” &iX
BRFEREKR, B “KAER.
Example:

Finally the enemy surrendered. They threw down their weapons and walked out of the home with
their hands over their heads. '

i 5 -—R) % “surrendered” fIARRE: 3338 (threw down their weapons) ,ZSHEXUFE (with their
hands over heads) ,AJAIHEZ R “HBE”,
5. FIBAMIRAERIR (BIRFER) BAiEX
Example:

They overestimate the interviewee’s ability and asked him many difficult questions.

“estimate” 2 “fit"HIRIE, “over”RATA, oA “iI4r, i, #Hid” %, K “overestimate”
HR T MEE. '
Example:

We were told that ours was the most spacious room in the hotel. That was why we had to pay so much
for it.

“spacious” & i “space(# 1], [A])” + “-ious(E B JF ) TR A, Fik, TRRERE XY
“ﬁmﬂ/‘]”o R

BMSENA. BRTLMMRALRE. BRI, 3hiR. BHA%, XSRS EE TR AN R B
A2 FER R AR KGRI BRI A 7 B AN

X IURERD SR MBS T B, ROTAEELHT MR RIEL, HFIRET
HMRHI S . BATRI. 2mERIRAN ST,
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(RIS ER S 4> FEIRIEL S 5 550

—. B

RIS B DU R P ISR R B AR — o BESRSCTE FEW K {2 . HUBRES 7 T
. SRS T R RO L B, (B B AURAE X T A SO R Bk I AR L e B R AR
AT E SRR BER XA, R SCERNC LS E AR S REEM A RS, AT
SREMEWAE, HEEMEE. W LT EE SR KAEHIRS, PEENES.
HTFRAT, RITEENBECRIFINERE SR, WREHFIR, & 8RR AR5 A
MERE S, RHARMNESE. HELEY RILIBM W 1996 4 1 A CET4.

substance Y Ji; acid B2, BRI T nucleus JB F#%; molecule 43 particle THkL, FUKL, ¥L ¥ : element
752, solution ¥3; blend JE&4; carbohydrate /KM &Y, B3 protein HE i petroleum £
s conductor S:4A; agent 7; appliance 385, #$HK, %:%®: mechanism HLHEE:; friction AEHT;
resistance [ /7, BB ; spectrum i, Jtit, 4l ; environmental protection ¥ 3i{f#/"; warming of climate
S ABAERE; ecological equilibrium 42 2%°F4; air-conditioner “F ¥ #; superconductivity SR

o TS :

Photosynthesis is a very basic process. Without it, life on earth would not exist.

In the process of photosynthesis, green plants do two things. First, they produce glucose. Glucose is a
kind of sugar. It is one of the most basic foods on earth. The second thing that green plants do in
photosynthesis is to release oxygen into the air. Without the oxygen made by green plants, animal life on
earth would not exist. '

Only green plants can carry out the process of photosynthesis. That’s because green plants contain a
substance that no other kind of plant or animal contains. That substance is chlorophyll.

In photosynthesis, a green plant uses three basic ingredients—water, sunlight, and carbon dioxide.
Carbon dioxide is a gas that is in the air. The first step in photosynthesis is very simple. Sunlight hits the
leaves of the green plant. The chlorophyll in the leaves absorbs the sunlight. The plant uses the sun’s
energy to change the water that the plant has absorbed. It changes the water by breaking it down into
oxygen atoms and hydrogen atoms.

" Some of the hydrogen and oxygen atoms recombine to form new water. But some of the hydrogen
atoms are used to produce glucose. The plant takes in carbon dioxide through its leaves. It combines.the
carbon dioxide with the hydrogen atoms to form glucose. Any oxygen atoms that are left over are released
by the plant into the air.

1. The main idea of the passage is that photosynthesis is a process by which green plants

A. produce glucose and release oxygen

B. make chlorophyll and release carbon dioxide

C. grow taller and stronger
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D. turn green and flower
2 .The three basic ingredients used in photosynthesis are water, sunlight, and _____
A. oxygen B. hydrogen
C. carbon dioxide ) D. glucose
3. When sunlight hits the leaves of a green plant, the chlorophyll in the plant
A. takes in carbon dioxide
B. absorbs the sunlight
C. changes water into oxygen atoms and hydrogen atoms
D. release oxygen into the air
4. Glucose is formed from
A. hydrogen and oxygen atoms
B. hydrogen atoms and carbon dioxide
C. oxygen atoms and carbon dioxide
D. chlorophyll and sunlight
5. According to the passage, you can understand that the word “chlorophyll” (paragraph 3) means _____
A. coloring matter for making paint
B. one of the parts of a mixture
C. what is green
D. green coloring matter in plants
ERXEEENATHEYKAEER. B—REBLSERREE: £ BRAAERSERN
S, HMMKFHGE. FZRUBZHURESEEMEET SN, E@%b@ﬁﬁ&ﬁ
YINZHPTRE R SRE: EUNEARNA SN A ERRTE.
BERHAA A NEZBETUAE,
BRAC, MNE. NBUBSE—ET LA,
BERANB, MNE. NBENBRSEN. BAETLEHY.
ERNB, ATE. NBE—BREIME _wiETUE .
ERAD, HEXE. NBE=BFAUBH.

HE=8

R

Passage 1 .

As the horizons of science have expanded, two main groups of scientists have emerged. One is the
pure scientist; the other, the applied scientist.

The pure or theoretical scientist does original research in order to understand the basic laws of nature
that govern our world. The applied scientist adapts this knowledge to practical problems. Neither is more
important than the other, however, for the two groups are very much related.

Sometimes, however, the applied scientist finds the “problems” for the theoretical scientist to work on.
Let’s take a particular problem of the aircraft industry: heat-resistant metals. Many of the metals and alloys
that perform satisfactorily in car cannot be used in a jet-propelled (B # 3 2 f17) plane. New alloys must
be used, because the jet engine operates at a much higher temperature than an automobile engine. The
turbine wheel (#%) in a turbojet (#R#EMESKZHL) must withstand temperatures as high as 1,600
degrees Fahrenheit, so air craft designers have to turn to the research metallurgist for the development of
metals and alloys that would do the job in jet-propelied planes.

Dividing scientists into two groups—pure and applied—is only one broad way of classifying them,
however. When scientific knowledge was very limited, there was no need for them to specialize. Today,
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with the great body of scientific knowledge, scientists specialize in many different fields. Within each field,
there is even further subdivision. And, with finer and finer subdivisions, the various sciences have become
more and more interrelated until no one branch is entirely independent of the others. Many new specialties—

geophysics and biochemistry, for example—have resulted from combining the knowledge of two or more
sciences.

1. The applied scientist
A. does original research to understand the basic laws of nature
B. applies the results of research to practical problems
C. provides the basic knowledge for the pure scientist
D. is not interested in practical problems
2. The example given in the third paragraph illustrates how
A. pure science operates independently of applied science
B. the applied scientist discovers the basic laws of nature
C. applied science defines all the areas in which basic research is done .
D. applied science suggests problems for the basic scientist
3. Finer and finer subdivision in the field of science has resulted in
A. the loss of the need for specialists
B. greater interdependence of each science
C. greater independence of each science
D. the need for only one classification of scientists
4. Geophysics and bipchemistry are
A. examples of new specialties resulting from combining sciences
B. totally dependent sciences .
C. among the oldest sciences known to man
D. both B and C
5. “The horizons of science have expanded” (Para.1) means that
A. scientists can see further out into space
B. science has developed more fields of human endeavor
C. the horizon changes size from year to year
D. scientists have made a machine for enlarging the horizon

Passage 2

Diffusion is the process by which molecules or ions scatter or spread from regions where they are in
higher concentrations toward regions where they are in lower concentrations. As a rule, this phenomenon
involves the movement of molecules or ions in gases or liquids. , -

Actually, molecules in gases and molecules and ions in body fluids are constantly moving at high
speeds. Each of these particles travels in a separate path along a straight line until it collides and bounces
off some other particle. Then it moves in another direction, only to collide again and change direction once
more. Such motion is haphazard, but it accounts for the mixing of molecules that commonly occurs when
different kinds of substances are put together.

For example, if you put some sugar into a glass of water, the sugar will seem to remain at the bottom
for a while. Then slowly it disappears into solution. As this happens, the moving water and sugar
molecules are cblliding haphazardly with one another, and in time the sugar and water molecules will be

evenly mixed. This mixing occurs by diffusion—the sugar molecules spread where they are in higher
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concentration toward the regions where they are less concentrated. Eventually the sugar becomes
uniformly distributed in the water. This condition is called equilibrium.
Ogmosis is a special kind of diffusion. It occurs whenever water molecules diffuse from a region of

higher concentration through a selectively permeable membrane, such as a cell membrane. s
1. The concentration of a material in an area refers tothe ______

A. area in which a material is found

B. amount of that material found in a particular area

C. kind of material it is

D. name of the material
2. What is the purpose of the first sentence in the first paragraph?

A. To define diffusion.

B. To explain diffusion.

C. To give an opinion of diffusion.

D. To provide an example of diffusion.
3. The second sentence in the first paragraph is used

A. to elaborate on, or extend, the definition

B. to give a specific example

C. to state the main idea
D. to give a conclusion
4. Which of the following titles suits the passage best?
A. Diffusion. )
B. Osmosis. : ¢
C. How Does Diffusion Happen?
D. Diffusion & Equilibrium. :
5. Which of the following statements about Osmosis is true?
A. It involves the movement of molecules in gases.
B. It involves the movement of ions in liquids. )
C. It is a process by which molecules diffuse from a region of higher concentration toward that of lower
concentration. '
D.A,BandC.

Passage 3

The difference between a liquid and a gas is obvious under the condition of temperature and pressure
commonly found at the surface of the Earth. A liquid can be kept in an open container and fills it to the
level of a free surfage. A gas forms no free surface but tends to diffuse throughout the space available; it
must therefore be kept in a closed container or held by a gravitational field, as in the case of a plant’s
atmosphere. The distinction was a prominent feature of early theories describing the phases of matter. In
the nineteenth century, for example, one theory maintained that a liquid could be “dissolved” in a vapor
without losing its identity, and another theory held that the two phases are made up of different kinds of
molecules: liquidons and gasons. The theories now prevailing take a quite different approach by
emphasizing what liquids and gases have in common. They are both forms of matter that have no
permanent structure, and they both flow readily. They are fluids.

The fundamental similarity of liquids and gases becomes clearly apparent when the temperature and
pressure are raised somewhat. Suppose a closed container partially filled with a liquid is heated. The liquid
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expands, or in other words becomes less dense; some of it evaporates. In contrast, the vapor above the
liquid surface becomes denser as the evap('>rated molecules are added to it. The combination of temperature
and pressure at which the densities become equal is called the critical point. Above the critical point the
liquid and the gas can no long\‘er be distinguished; there is a single, undifferentiated fluid phase of uniform
density. ‘
1. Which of the following would be the most appropriate title for the passage?
A. The Properties of Gases and Liquids.
B. High Temperature Zones on the Earth.
C. The Beginnings of Modern Physics.
D. New Containers for Fluids.
2. According to the passage, the difference between a liquid and a gas under normal conditions on Earth is
that the liquid
A. is affected by changes in pressure
B. has a permanent structure
C. forms a free surface

D. is considerably more common
3. It can be inferred from the passage that the gases of the Earth’s atmosphere are contained by ____ .
A. a closed surface B. the gravity of the planet
C. the field of space D. its critical point
4. According to the passage, in the nineteenth century some scientists viewed liquidons and gasons as

A. fluids B. dissolving particles
C. heavy molecules D. different types of molecules
5. According to the passage, the best definition of the critical point is that .
A. the temperature and the pressure are raised
B. the densities of the two phases are equal
C. the pressure and temperature are combined
D. the container explodes

. AP

ANVPRIEGRERE, FROBIL. WEL. WHAXRBGE. WAFBEEHNER, ARB
I ROBRE S TR E b0 BARREAT ER RIS . fEMN, NEREEL TN EEaE
TERENLER, ¥RUMNZABXR, UEESEHA0P0ER, JTHRN, 2468 R
HEEXTEFRIERN, ARAXECREENER, BIFEAFEZES S 0RRGY, B
BRESE, RAGRERARBIERER.

immigrant B, fR; migrant BEE, BE; alien SMNEA, AMFF: specialist 5; authority X

Bl EFK; intellectual 53R4T, sponsor Kie#H, THE, HEE. exponent 18 5%, HWE,
#Y#; forerunner SEIR, %5

GBI

Grandma Moses is among the most celebrated twentieth-century painters of the United States, yet she
had barely started painting before she was in her late seventies. As she once said of herself: “I would never
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sit back in a rocking chair, waiting for someone to help me.” No one could have had a more productive old
age. . '
She was born Anna Mary Robertson on a farm in New York State, one of five boys and five girls.
(“We came in bunches, like radishes (/N5 }).”) At twelve she left home and was in domestic service until,
at twenty-seven, she married Thomas Moses, the hired hand of one of her employers. They farmed most of
their lives, first in Virginia and then in New York State, at Eagle Bridge. She had ten children, of whom
five survived; her husband died in 1927.

Grandma Moses painted a little as a child and made embroidery pictures as a hobby, but only
switched to oils in old age because her hands had become too stiff to sew and she wanted to keep busy and
pass the time. Her pictures were first sold at the local drugstore and at a fair, and were soon spotted by a
dealer who bought everything she painted. Three of the pictures were exhibited in the Museum of Modern
Art, and in 1940 she had her first exhibition in New York. Between the 1930’s and her death she produced
some 2000 pictures: detailed and lively portrayals of the rural life she had known for so long, with a
marvelous sense of color and form “I think real hard till I think of something real pretty; and then I paint

” she said.
1. Which of the following would be the best title for the passage?
A. Grandma Moses: A Biographical Sketch. '
B. The Children of Grandma Moses.
C. Grandma Moses: Her Best Exhibition.
D. Grandma Moses and Other Older Artists.
2. According to the passage, Grandma Moses began to paint because she wanted to
A. decorate her home

B. keep active
C. improve her salary
D. gain an international reputation
* 3. From Grandma Moses’ description of herself in the first paragraph, it can be inferred that she was

A. independent
B. pretty
C. wealthy
D. timid
4. Grandma Moses spent most of the life
A. nursing
B. painting
C. embroidering
D. farming
5. In paragraph 3, the word “spotted” could best be replaced by
A. speckled
B. featured
C. noticed
D.damaged
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Ask Steveland Morris and he’ll tell you that blindness is not necessarily disabling. Steveland was born
prematurely and totally without sight in 1950. He became Stevie Wonder—composer, singer, and pianist.
The winner of ten Grammy awards, Stevie is widely acclaimed for his outstanding contributions to the
music world.

As a child, Stevie learned not to think about the things he could not do, but to concentrate on the
things that he could do. His parents encouraged him to join his sighted brothers in as many activities as
possible. They also helped him to sharpen his sense of hearing, the sense upon which the visually disabled
are so dependent.

Because -sound was so important to him, Stevie began at an early age to experiment with different
kinds of sound. He would bang things together and then imitate the sound with his voice. Often relying on
sound for entertainment, he sang, beat on toy drums, played a toy harmonica, and listened to radio.

Stevie soon graduated from toy instruments to real instruments. He first learned to play the drums. He
then mastered the harmonica and the piano. He became a member of the junior church choir and a lead
singer. In the evenings and on weekends, Stevie would play different instruments and sing popular rhythm
and blues tunes on the front porches of neighbors’ homes.

One of Stevie’s sessions was overheard by Ronnie White, a member of a popular singing group called
The Miracles. Ronnie immediately recognized Stevie’s talent and took him to audition for Berry Gordy,
the president of Hitsville USA, a large recording company now known as Motown. Stevie recorded his first
smash hit “Fingertips” in 1962 at age twelve, and the rest of Stevie’s story is music history.

1. This passage could be entitled
A. The Music World B. Stevie Wonder
C. Great Musicians D. Blind People

2. Which of the following is not true about Stevie’s childhood ?
A. Stevie often tells people that a blind person is not necessarily disabled.
B. He learnt to concentrate on things that he could do.
C. He played as often as possible with his brothers, who had normal sight.
D. He tried very hard to train his sense of hearing.

3. By saying “Stevie soon graduated from toy instruments to real instruments,” the author means that

A. Stevie finished his study at a toy instruments school
B. Stevie began to study in a real instruments school

C. Stevie gave up all his toy instruments and began to buy many real instruments
D. Stevie started to play real instruments

4. The author mentions all the following facts except that
A. Stevie’s neighbors could often enjoy his playing and singing
B. it was Ronnie White who recognized Stevie’s talent and led him to a successful career
C. Berry Gordy helped him to set up his own recording company
D. Stevie’s parents played a very important part in training his sense of hearing



